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1. Test Result

1.1 Mode1 LDS01 EU868

1.1.1 Deep Sleep Mode

Average:8.1uA

Range & NPLC Settings Current Waveform
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1.1.2 Count Power
Average 3.10583mA in 1ms for every 60 seconds (count period)
B Dragino Power Consumption Analyze Tool v1.0 - x

Dragino Power Consumption Analyze Tool v1.0

Range 8 NPLC Settings: Current Waveform 2wl
Current Measure Range 00
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Save Waveform
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1.1.3 DR=0,TXP=0

Send packet

Transmit: 5s

Average Current in transmit time: 26.3145mA

The total current to send a packet is
26.3145mA * 55 = 131.5725mA*s

B Dragino Power Consumption Analyze Tool v1.0

Dragino Power Consumption Analyze Tool v1.0

Range & NPLC Settings Current Waveform | 2w
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Analyze Result
With Above test result and battery info, we can estimate the battery life.

For example, if we install the sensor node where the DR=0, Transmit one uplink every one
hour.

The average current for the end node composed of:

v' Deep Sleep Mode Power Consumption in one period : 0.0081mA*60*60s=(29.16mA*s)

v' Count Power Consumption in one period: 0.001s*3.1058mA*(60*60s/60s)=(0.1864mA*s)

v' Sampling & Uplink & Downlink Power Consumption Power Consumption in one
period:131.5725mA*s

AV_Current is :(29.16mA*s + 0.1864mA*s+ 131.5725mA*s )/(60*60s)= 0.0447mA.

The battery used in LDSO1 is 240mAh and of stable voltage in the most of life. With considering a
max 2% discharge rate from the battery spec.So the battery life is y. so

240(1 - 2%*y) =0.0447mA * 24 * 365 * y

So 240 — 4.8*y = AV_CURRENT * 8760 *y

S0240=( AV_CURRENT * 8760 +4.8 ) * Y
SoY =240/ (AV_CURRENT * 8760+4.8) = 240/ (0.0447* 8760+4.8) = 0.6(Years)

LDS01/LWLO1 LoRaWan sensor 5
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1.1.4 DR=5,TXP=0

Send packet

Transmit: 4s

Average Current in transmit time: 1.53098mA

The total current to send a packet is
1.53098mA * 4s = 6.124mA*s

B Dragino Power Consumption Analyze Tool v1.0 - x

Dragino Power Consumption Analyze Tool v1.0
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Analyze Result

With Above test result and battery info, we can estimate the battery life.

For example, if we install the sensor node where the DR=5, Transmit one uplink every one

hour.

The average current for the end node composed of:

v' Deep Sleep Mode Power Consumption in one period : 0.0081mA*60*60s=(29.16mA*s)

v' Count Power Consumption in one period: 0.001s*3.1058mA*(60*60s/60s)=(0.1864mA*s)

v' Sampling & Uplink & Downlink Power Consumption Power Consumption in one
period:6.124mA*s

AV_Current is :(29.16mA*s + 0.1864mA*s+ 6.124mA*s )/(60*60s)= 0.0099mA.

The battery used in LDSO1 is 240mAh and of stable voltage in the most of life. With considering a
max 2% discharge rate from the battery spec.So the battery life is y. so

240(1 - 2%*y) =0.0099mA * 24 * 365 * y

So 240 — 4.8*y = AV_CURRENT * 8760 *y

S0240=( AV_CURRENT * 8760 +4.8 ) * Y
SoY =240/ (AV_CURRENT * 8760+4.8) = 240/ (0.0099* 8760+4.8) = 2.6(Years)

LDS01/LWLO1 LoRaWan sensor 6
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1.2 Mode1 LDS01 US915
1.2.1 Deep Sleep Mode
Average:8.3uA

Dragino Power Consumption Analyze Tool v1.0
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Range & NPLC Settings
Current Measure Range
10mA
ntegration Rate (NPLC)
0.05

Whole Measurement Time
Average Current
3.57929uh
Measure
7s

Total Power (mAh)

0.000007078

Real Time Current

8.2325uA

Clear Waveform

[ B Stop Test

Current Waveform

9.00uA~

850uA-

8.00uA-]
7.50uA]
7.00uA-]
6.50uA|
6.00uA|
5.50uA|
5.00uA|
450uA-]
4.00uA-]
3.50uA
3.00uA|
250uA]
2.00uA-]

1.50uA-| L I
0s  S00ms  1s

Show Cursor
Hide Cursor

Result Between Cursors
Average Current
oA
Measure
0s
Max Current
0A
Min Current
0A

Total Power (mAh)

E—

Save Waveform
Import Waveform

_ |

LDS01/LWLO1 LoRaWan sensor



& orAGING

www.dragino.com

1.2.2 Count Power

Average 3.36475mA in 1ms for every 60 seconds (count period)

B Dragino Power Consumption Analyze Tool v1.0

- X
Dragino Power Consumption Analyze Tool v1.0 (B Eat |
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1.2.3 DR=0,TXP=0

Send packet

Transmit: 4s

Average Current in transmit time: 11.9634mA

The total current to send a packet is
11.9634mA * 4s = 47.8536mA*s

B Dragino Power Consumption Analyze Tool v1.0 - x

Dragino Power Consumption Analyze Tool v1.0

Range & NPLC Settings Current Waveform B2
Current Measure Range 140ma | show Cursor
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Analyze Result

With Above test result and battery info, we can estimate the battery life.

For example, if we install the sensor node where the DR=0, Transmit one uplink every one

hour.

The average current for the end node composed of:

v' Deep Sleep Mode Power Consumption in one period : 0.0083mA*60*60s=(29.88mA*s)

v' Count Power Consumption in one period: 0.001s*3.3648mA*(60*60s/60s)=(0.202mA*s)

v Sampling & Uplink & Downlink Power Consumption Power Consumption in one
period:47.8536mA*s

AV_Current is :(29.88mA*s + 0.202mA*s+ 47.8536mA*s )/(60*60s)= 0.02165mA.

The battery used in LDSO1 is 240mAh and of stable voltage in the most of life. With considering a
max 2% discharge rate from the battery spec.So the battery life is y. so

240(1 - 2%*y) =0.02165mA * 24 * 365 * y

S0 240 — 4.8*y = AV_CURRENT * 8760 *y

S0240=( AV_CURRENT * 8760 +4.8 ) * Y
So 'Y =240/ (AV_CURRENT * 8760+4.8) = 240/ (0.02165* 8760+4.8) = 1.2(Years)

LDS01/LWLO1 LoRaWan sensor 9
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1.2.4 DR=3,TXP=0

Send packet

Transmit: 4s

Average Current in transmit time: 2.50434mA

The total current to send a packet is
2.50434mA * 4s = 10.0174mA*s

B Dragino Power Consumption Analyze Tool v1.0 - x

Dragino Power Consumption Analyze Tool v1.0

Range & NPLC Settings Current Waveform | B
Current Measure Range — | Show Cursor
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s 50.0mA- Min Current
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Analyze Result

With Above test result and battery info, we can estimate the battery life.

For example, if we install the sensor node where the DR=3, Transmit one uplink every one

hour.

The average current for the end node composed of:

v' Deep Sleep Mode Power Consumption in one period : 0.0083mA*60*60s=(29.88mA*s)

v" Count Power Consumption in one period: 0.001s*3.3648mA*(60*60s/60s)=(0.202mA*s)

v' Sampling & Uplink & Downlink Power Consumption Power Consumption in one
period:10.0174mA*s

AV_Current is :(29.88mA*s + 0.202mA*s+ 10.0174mA*s )/(60*60s)= 0.01114mA.

The battery used in LDSO1 is 240mAh and of stable voltage in the most of life. With considering a
max 2% discharge rate from the battery spec.So the battery life is y. so

240(1 - 2%*y) =0.01114mA * 24 * 365 * y

So 240 — 4.8*y = AV_CURRENT * 8760 *y

S0240=( AV_CURRENT * 8760 +4.8 ) * Y
So Y =240/ (AV_CURRENT * 8760+4.8) = 240/ (0.01114* 8760+4.8) = 2.3(Years)

LDS01/LWLO1 LoRaWan sensor 1
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1.3 Mode2 LWL01 EU868

1.3.1 Deep Sleep Mode

Average:8uA

B Dragino Power Consumption Analyze Tool v1.0

Dragino Power Consumption Analyze Tool v1.0

Range & NPLC Settings Current Waveform
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0.05

Whole Measurement Time
Average Current
3.60152uh
Measure
45

Total Power (mAh)

0.000004294

Real Time Current

7.911uA

Clear Waveform

[ B  Stop Test

1s  12s 1ds 16s 18s 2s 225 24s 26s 28s 35 325 34s 365 38s 4s 425 dds

Show Cursor
Hide Cursor

Result Between Cursors
Average Current
oA

Measure

0s

Max Current

0A

Min Current

0A

Total Power (mAh)
0
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1.3.2 DR=0,TXP=0

Send packet

Transmit: 6s

Average Current in transmit time: 21.7745mA

The total current to send a packet is
21.7745mA * 6s = 130.647mA*s

B Dragino Power Consumption Analyze Tool v1.0 - x

Dragino Power Consumption Analyze Tool v1.0
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Analyze Result
With Above test result and battery info, we can estimate the battery life.

For example, if we install the sensor node where the DR=0, Transmit one uplink every one
hour.

The average current for the end node composed of:
v' Deep Sleep Mode Power Consumption in one period : 0.008mA *60*60s=(28.8mA*s)

v' Sampling & Uplink & Downlink Power Consumption Power Consumption in one
period:130.647mA*s

AV_Current is :(28.8mA*s + 130.647mA*s )/(60*60s)= 0.04429mA.

The battery used in LWLO1 is 240mAh and of stable voltage in the most of life. With considering a
max 2% discharge rate from the battery spec.So the battery life is y. so

240(1 - 2%*y) =0.04429mA * 24 * 365 * y

So 240 — 4.8*y = AV_CURRENT * 8760 *y

S0240=( AV_CURRENT * 8760 +4.8 ) * Y
So Y =240/ (AV_CURRENT * 8760+4.8) = 240/ (0.04429* 8760+4.8) = 0.6(Years)

LDS01/LWLO1 LoRaWan sensor 1
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1.3.3 DR=5,TXP=0

Send packet

Transmit: 4s

Average Current in transmit time: 1.54158mA

The total current to send a packet is
1.54158mA * 4s = 6.16632mA*s

B Dragino Power Consumption Analyze Tool v1.0 - x

Dragino Power Consumption Analyze Tool v1.0
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Analyze Result

With Above test result and battery info, we can estimate the battery life.

For example, if we install the sensor node where the DR=5, Transmit one uplink every one

hour.

The average current for the end node composed of:

v' Deep Sleep Mode Power Consumption in one period : 0.008mA *60*60s=(28.8mA*s)

v' Sampling & Uplink & Downlink Power Consumption Power Consumption in one
period:6.16632mA*s

AV_Current is :(28.8mA*s + 6.16632mA*s )/(60*60s)= 0.0097mA.

The battery used in LWLO1 is 240mAh and of stable voltage in the most of life. With considering a
max 2% discharge rate from the battery spec.So the battery life is y. so

240(1 - 2%*y) =0.0097mA * 24 * 365 * y

So 240 — 4.8*y = AV_CURRENT * 8760 *y

S0240=( AV_CURRENT * 8760 +4.8 ) * Y
SoY =240/ (AV_CURRENT * 8760+4.8) = 240/ (0.0097* 8760+4.8) = 2.6(Years)

LDS01/LWLO1 LoRaWan sensor 1
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1.4 Mode2 LWLO01 US915

1.4.1 Deep Sleep Mode

Average:8uA

3)| M Dragino Power Consumption

Dragino Power Consumption Analyze Tool v1.0
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1.4.2 DR=0,TXP=0

Send packet

Transmit: 4s

Average Current in transmit time: 11.2595mA

The total current to send a packet is
11.2595mA * 4s = 45.038mA*s

B Dragino Power Consumption Analyze Tool v1.0 - x

Dragino Power Consumption Analyze Tool v1.0
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Analyze Result

With Above test result and battery info, we can estimate the battery life.

For example, if we install the sensor node where the DR=0, Transmit one uplink every one

hour.

The average current for the end node composed of:

v' Deep Sleep Mode Power Consumption in one period : 0.008mA *60*60s=(28.8mA*s)

v" Sampling & Uplink & Downlink Power Consumption Power Consumption in one
period:45.038mA*s

AV_Current is :(28.8mA*s + 45.038mA*s )/(60*60s)= 0.0205mA.

The battery used in LWLO1 is 240mAh and of stable voltage in the most of life. With considering a
max 2% discharge rate from the battery spec.So the battery life is y. so

240(1 - 2%*y) =0.0205mA * 24 * 365 * y

So 240 — 4.8*y = AV_CURRENT * 8760 *y

S0240=( AV_CURRENT * 8760 +4.8 ) * Y
So Y =240/ (AV_CURRENT * 8760+4.8) = 240/ (0.0205* 8760+4.8) = 1.3(Years)

LDS01/LWLO1 LoRaWan sensor 1
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1.4.3 DR=3,TXP=0

Send packet

Transmit: 4s

Average Current in transmit time: 2.05843mA

The total current to send a packet is
2.05843mA * 4s = 8.23372mA*s
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Analyze Result

With Above test result and battery info, we can estimate the battery life.

For example, if we install the sensor node where the DR=3, Transmit one uplink every one

hour.

The average current for the end node composed of:

v' Deep Sleep Mode Power Consumption in one period : 0.008mA *60*60s=(28.8mA*s)

v' Sampling & Uplink & Downlink Power Consumption Power Consumption in one
period:8.23372mA*s

AV_Current is :(28.8mA*s + 8.23372mA¥*s )/(60*60s)= 0.01029mA.

The battery used in LWLO1 is 240mAh and of stable voltage in the most of life. With considering a
max 2% discharge rate from the battery spec.So the battery life is y. so

240(1 - 2%*y) =0.01029mA * 24 * 365 * y

So 240 — 4.8*y = AV_CURRENT * 8760 *y

S0240=( AV_CURRENT * 8760 +4.8 ) * Y
So Y =240/ (AV_CURRENT * 8760+4.8) = 240/ (0.01029* 8760+4.8) = 2.5(Years)
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